
  

 

 

B.Com. DEGREE EXAMINATION —  

JUNE, 2010. 

(AY 2003 – 04 and CY 2004 batches only) 

First Year 

COMMERCE 

Time : 3 hours Maximum marks : 75 

SECTION A — (3 × 5 = 15 marks) 

Answer any THREE questions. 

1. What are the objectives of Accounting. 

 PnUQ¯¼ß ÷|õUP[PÒ ¯õøÁ? 

2. State the features of Hire Purchase System. 

 ÁõhøP öPõÒ•uÀ •øÓ°ß ußø©PøÍ GÊxP. 

3. A fire occurred on 10.04.2008 in the premises of a 

company. From the following calculate the amount 

of claim to be lodged with respect to loss of stock. 

Particulars Rs. 

Stock on 01.01.2008 1,25,000 

Transaction for the period 01.01.2008 – 10.04.2008 :  

Purchases 5,00,000 

Wages 1,00,000 
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Particulars Rs. 

Manufacturing expenses 50,000 

Sales 7,50,000 

 The gross profit ratio is 15%. The stock salvaged 

was estimated at Rs. 37,500. 

 10.04.2008 AßÖ J¸ {ÖÁÚzvß ÁoP ÁÍõPzvÀ 
J¸ w Â£zx HØ£mhx. ¤ßÁ¸® ÂÁµ[PÎ¼¸¢x, 
\µUS |mhzvØPõP ÷Põµ¨£k® Põ¨¥mk 
öuõøP°øÚU PnUQkP. 

ÂÁµ[PÒ ¹. 

01.01.2008 AßÖ \µUQ¸¨¦ 1,25,000 

01.01.2008 – 10.04.2008 Põ»zvØPõÚ Â¯õ£õµ 
|hÁiUøPPÒ : 

 

öPõÒ•uÀ 5,00,000 

T¼ 1,00,000 

EØ£zva ö\»ÄPÒ 50,000 

ÂØ£øÚ 7,50,000 

 ö©õzu C»õ£ ÂQuõa\õµ® 15% «mP¨£mh \µUQß 
©v¨¦ ¹. 37,500. 

4. A, B and C are partners sharing profit in the ratio 

of 3:2:1. They admit ‘D’ into the firm for 1/3rd share 

in the profits. ‘D’ is to bring in Rs. 12,000 for 

goodwill. No goodwill account appears in the books 

of the firm. They withdrew half of the goodwill.  

Journalise the transactions. 
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 A, B ©ØÖ® C C»õ£zøu 3:2:1 GßÓ ÂQuzvÀ 
£[QmkU öPõÒÐ® TmhõÎPÒ, AÁºPÒ D–ø¯ 
Tmhõsø© {ÖÁÚzvÀ ÷\ºzxU öPõÒQÓõºPÒ. 
C»õ£zvÀ 3À J¸ £[QØPõP D ¹. 12,000 
|Øö£¯µõP ö\¾zxQÓõº. Tmhõsø© {ÖÁÚzvß 
PnUSPÎÀ |Øö£¯º PnUS Ch® ö£ÓÂÀø». 
|Øö£¯›À £õv öuõøPø¯ TmhõÎPÒ 
{ÖÁÚzv¼¸¢x GkzxU öPõÒQÓõºPÒ.  
SÔ¨÷£mk £vÄPøÍz u¸P. 

5. Calculate the average due date from the following 
information : 

Due dates Amount due 

 Rs. 

18.05.2006 1,100 

24.06.2006 625 

30.07.2006 1,800 

18.08.2006 1,750 

20.10.2006 1,000 

24.11.2006 500 

 RÌUPsh ÂÁµ[PÎ¼¸¢x \µõ\› uÁønz ÷uv 
PnUQkP : 

uÁøn |õÒ öuõøP 

 ¹. 

18.05.2006 1,100 

24.06.2006 625 

30.07.2006 1,800 

18.08.2006 1,750 

20.10.2006 1,000 

24.11.2006 500 
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SECTION B — (4 × 15 = 60 marks)  

Answer any FOUR questions. 

6. Explain in detail the Rule laid down in  

‘Garner Vs Murray’ case. 

 PõºÚº G. •º÷µ GßÓ ÁÇUQß wº¨¤øÚ ÂÍUPÄ®. 

7. A company whose accounting year is the calendar 

year purchased on 1st April 2006 machinery 

costing Rs. 30,000. It purchased further 

machinery on 1st October 2006 costing Rs. 20,000 

and on 1st July 2007 costing Rs. 10,000.  

On 1st January 2008 one third of the machinery 

installed on 1st April 2006 became obsolete and 

was sold for Rs. 3,000. Show how the machinery 

account would appear in the books of the company. 

Machinery is depreciated at 10% p.a. Under fixed 

instalment method. 

 Põ»shº BsøhU PnUPõshõPU öPõsh J¸ 
P®ö£Û H¨µÀ 1, 2006 AßÖ ¹. 30,000 ©v¨¦ÒÍ 
C¯¢vµzøu Áõ[Q¯x. ÷©¾® AU÷hõ£º 1, 2006 
AßÖ ¹. 20,000 ©v¨¦ÒÍ C¯¢vµzøu²®  
`ø» 1, 2007 AßÖ ¹. 10,000 ©v¨¦ÒÍ 
C¯¢vµzøu²® Áõ[Q¯x. H¨µÀ 1, 2006–À  
{º©õÛUP¨£mh C¯¢vµzvß ‰ßÔÀ J¸ £Svø¯ 
£¯ÚØÓx GÚ áÚÁ› 1, 2008 AßÖ ¹. 3,000US 
ÂØP¨£mhx. C¯¢vµ® ÷|º÷Põmk •øÓ°À 
BskUS 10% Ai¨£øh°À ÷u´©õÚzvØS 
Em£kzu¨£kQÓx. P®ö£Û°ß ¦zuP[PÎÀ 
C¯¢vµU PnUS GÆÁõÖ C¸US® Gß£øuU 
Põs¤UPÄ®. 
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8. ‘C’ and ‘D’ are partners sharing profits in the ratio 

of 
5

3
: 

5

2
 with capitals Rs. 1,80,000 and Rs. 90,000 

respectively. ‘E’ is admitted as a new partner for 

4

1
 share of profits with a capital of Rs. 90,000.  

Adjust the capitals according to new profit sharing 

ratio. Give the journal entries and prepare the 

capital accounts. 

 ‘C’ ©ØÖ® ‘D’ TmhõÎPÒ C»õ£zøu 
5

3
: 

5

2
 

ÂQuzvÀ ¤›zxU öPõshÚº. AÁºPÐøh¯ •uÀ 

¹. 1,80,000 ©ØÖ® ¹. 90,000 BS®. ‘E’ Gß£Áøµ 
4

1
 

C»õ£ £[QÀ ¹. 90,000 ‰»uÚzxhß TmhõÎ¯õP 
÷\ºzxU öPõshÚº. ‰»uÚzøu ¦v¯ ÂQuzvÀ \› 
ö\´¯Ä®. SÔ¨÷£mk £vÄPøÍ²® •uÀ 
PnUQøÚ²® u¯õ›UPÄ®. 

9. Sairam company opened a branch at Madras on 

1.1.99. From the following particulars prepare the 

Madras Branch Account for the years 1998 and 

1999. 

 1998 1999 

 Rs. Rs. 

Goods sent to Madras Branch 15,000 45,000 

Cash sent to Branch for :   

         Rent 1,800 1,800 
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 1998 1999 

 Rs. Rs. 

         Salaries 3,000 5,000 

         Other expenses 1,200 1,600 

Cash received from the branch 24,000 60,000 

Stock on 31st December 2,300 5,800 

Petty cash in hand on 31st
 December 40 30 

 \õ´µõ® {ÖÁÚ® 1.1.99 AßÖ ö\ßøÚ°À J¸ 

QøÍø¯z xÁ[Q¯x. A¢u Bsiß Auß Â¯õ£õµ 

|hÁiUøPPÒ R÷Ç öPõkUP¨£mkÒÍÚ. Av¼¸¢x, 

1998 ©ØÖ® 1999 BsiØPõÚ ö\ßøÚ QøÍU 

PnUøPz u¯õº ö\´P. 

 1998 1999 

 ¹. ¹. 

ö\ßøÚ QøÍUS AÝ¨¤¯ \µUS 15,000 45,000 

ö\»ÄPÐUPõP QøÍUS AÝ¨¤¯ öµõUP® :   

      ÁõhøP 1,800 1,800 

      \®£Í® 3,000 5,000 

      Cuµ ö\»ÄPÒ 1,200 1,600 

QøÍ°¼¸¢x ö£ØÓ öµõUP® 24,000 60,000 

\µUQ¸¨¦ (31.12 AßÖ) 2,300 5,800 

31.12 AßÖ ]À»øµ öµõUP® 40 30 
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10. On 1.1.2006, ‘X’ purchased a machinery on hire 

purchase system. The payment is to be made  

Rs. 4,000 down (on signing of the contract) and  

Rs. 4,000 annually for three years. The cash price 

of the machinery is Rs. 14,900 and the rate of 

interest is 5% calculate the interest for each year 

and instalment amount. 

 ‘X’ Gß£Áº 1.1.2006 AßÖ J¸ C¯¢vµzøu 
ÁõhøPU öPõÒ•uÀ J¨£¢uzvß Ai¨£øh°À 
Áõ[QÚõº. J¨£¢uzvÀ øPö¯Êzx CmhÄhß ‘X’ 
¹. 4,000 ö\¾zvÚõº. «vz öuõøP°øÚ JÆöÁõ¸ 
uÁøn°¾® ¹. 4,000 ©ØÖ® Ámi ÷\ºzx ö\¾zu 
÷Ásk®. öµõUP Âø» ¹. 14,900 BS®. Ámi Ãu® 
BskUS 5%. 

 JÆöÁõ¸ Bsiß Ámiø¯²® ©ØÖ® uÁønz 
öuõøP°øÚ²® PnUQkP. 

11. From the following details, prepare department of 

trading accounts. 

 Department A Department B 

 Rs. Rs. 

Opening stock 9,000 8,400 

Total purchases 27,000 21,600 

Total sales 42,000 36,000 

Closing stock 10,800 4,800 

Credit purchases 17,000 10,600 

Credit sales 5,000 6,000 
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 RÌUPsh Â£µ[PÎ¼¸¢x xøÓÁõ› Â¯õ£õµ 
PnUSPøÍ u¯õ›UPÄ®. 

 xøÓ A xøÓ B 

 ¹. ¹. 

Bµ®£a \µUQ¸¨¦ 9,000 8,400 

ö©õzu öPõÒ•uÀ 27,000 21,600 

ö©õzu ÂØ£øÚ 42,000 36,000 

CÖva \µUQ¸¨¦ 10,800 4,800 

öPõÒ•uÀ Phß 17,000 10,600 

Phß ÂØ£øÚ 5,000 6,000 

12. Radha commenced business on 01.01.2004 with a 

capital of Rs. 25,000. He immediately bought 

furniture for Rs. 4,000. During the year, he 

borrowed Rs. 5,000 from his wife and introduced a 

further capital of Rs. 3,000. He had withdrawn  

Rs. 600 at the end of each month for his family 

expenses. From the following particulars obtained 

from his books kept by single entry, prepare a 

trading and Profit and Loss a/c and Balance Sheet 

as on 31.12.2004. 

Particulars Rs. 

Sales (Including cash sales Rs. 30,000) 1,00,000 

Purchases (including cash  

   purchases of Rs. 10,000) 1,00,000 

Wages 1,000 

Salaries to staff 6,200 
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Particulars Rs. 

Discount allowed to debtors 800 

Bad debts written off 1,500 

Trade expenses 1,200 

Advertisement 2,200 

 Radha has used goods worth Rs. 1,300 for private 

purpose and paid Rs. 500 to his son which is not 

recorded any where. On 31.12.2004 his debtors 

were worth Rs. 21,000 and creditors amounted to 

Rs. 15,000 stock in trade at the year end was 

valued at Rs. 10,000 furniture is to be depreciated 

at the rate of 10% p.a. 

 01.01.2004 AßÖ ¹. 25,000 ‰»uÚzxhß µõuõ 
Â¯õ£õµzøuz öuõh[QÚõº. AÁº Eh÷Ú  
¹. 4,000 US ©øÚzxøn¨ ö£õ¸mPøÍ Áõ[QÚõº. 
A¢u BsiÀ AÁº uß ©øÚÂ°hª¸¢x PhÚõP  
¹. 5,000 ö£ØÓõº. ÷©¾®, TkuÀ ‰»uÚ® ¹. 3,000 
AÔ•P¨£kzvÚõº. AÁº Sk®£ ö\»ÂØPõP 
JÆöÁõ¸ ©õu CÖv°¾® ¹. 600 GkzxU 
öPõshõº. ¤ßÁ¸® ÂÁµ[PÎ¼¸¢x 31.12.2004 
÷uv°À •i²® BsiØPõP Â¯õ£õµ C»õ£ |mhU 
PnUøP²® AßøÓ¯ C¸¨¦ {ø»U SÔ¨ø£²® 
(JØøÓ £vÄ •øÓ°À) u¯õº ö\´P : 

ÂÁµ[PÒ ¹. 

ÂØ£øÚ (öµõUP ÂØ£øÚ ¹. 30,000 Em£h) 1,00,000 

öPõÒ•uÀ (öµõUP öPõÒ•uÀ   

    ¹. 10,000 Em£h) 1,00,000 
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ÂÁµ[PÒ ¹. 

T¼ 1,000 

\®£Í® 6,200 

PhÚõÎPÐUS ÁÇ[P¨£mh uÒÐ£i 800 

}UP¨£mh ÁµõUPhß 1,500 

ÁoP ö\»ÄPÒ 1,200 

ÂÍ®£µ® 2,200 

 µõuõ uÚx ö\õ¢u E£÷¯õPzvØPõP ¹. 1,300 
©v¨¦ÒÍ ö£õ¸mPøÍ GkzxÒÍõº. ÷©¾®, 
AÁ¸øh¯ ©PÝUS ¹. 500 ÁÇ[P¨£mkÒÍx. 
CøÁ PnUQÀ £vÄ ö\´¯¨£hÂÀø». 31.12.2004 
AßÖ PhÚõÎPÎß ©v¨¦ ¹. 21,000 ©ØÖ® 
PhÜ¢÷uõº ©v¨¦ ¹. 15,000. Bsk CÖv°À 
\µUQ¸¨¤ß ©v¨¦ ¹. 10,000 ©øÚzxøn¨ 
ö£õ¸mPÎß «x ÷u´©õÚ® BsiØS 10 \uÃu® 
PnUQh¨£h ÷Ásk®. 

—————— 


